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Question Shuffling Allowed : No

Question Id : 8732654682 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

1-5 Questions : Read the following passage and answer the
questions that follow :

Qur present idea about the motion of bodies dates back to Galileo
and Newton. Before that people believed in Aristotle, who said that the
natural state of a body was to be at rest and that it moved only if driven
by a force or impulse. It followed that a heavy body should fall faster
than a lighter one. because it would have a greater pull towards the
earth.

The Aristotelian tradition also held that one could work out all the
laws that govern the universe by pure thought: it was not necessary to
check by observation. So no one until Galileo bothered to see whether
bodies of different weight did in fact fall at different speeds. It 1s said
that Galileo demonstrated that Aristotle’s belief was false by dropping
weights from the leaning tower of Pisa. The story is almost certainly
untrue, but Galileo did do somethmng equivalent: he rolled balls of
different weights down a smooth slope. The situation is similar to that of
heavy bodies falling vertically. but it 15 easier to observe because the
speeds are smaller. Galileo’s measurements indicated that each body
mncreased its speed at the same rate. no matter what its weight. For
example. if you let go off a ball on a slope that drops by one meter for
every ten meters you go along, the ball will be travelling down the slope
at a speed of about one meter per second after one second. two meters
per second after two seconds. and so on, however heavy the ball. Of
course a lead weight would fall faster than a feather. but that 1s only
because a feather 1s slowed down by air resistance. If one drops two
bodies that don’t have much air resistance. such as two different lead
weights. they fall at the same rate.

Sub questions

Question Number : 1 Question Id : 8732654683 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Our preset idea of motion dates back to ?

Options :
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Aristotle

1. ®

, » Plato

Copernicus
3%

Galileo
L4

Question Number : 2 Question Id : 8732654684 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the Aristotelian tradition the laws of the universe can be
understood by ?

Options :
Logic
1. #

Thought
2.

Faith

3. %

Observation

Question Number : 3 Question Id : 8732654685 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following falls down faster?
Options :

Feather
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) % Ball

Nothing
3. %

Lead

4.9

Question Number : 4 Question Id : 8732654686 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the word 1n the passage which means ‘opposition’?
Options :

- Logic

Thought
2. %

Faith
3. %

L Resistance

Question Number : 5 Question Id : 8732654687 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the antonym for ‘equivalent’ in the passage

Options :

Identical
1. ®

Simular
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Difterent

3.¢

. Opposite

4.

Sub-Section Number : 2
Sub-Section Id : 873265187
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 8732654688 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The match by the time we reached the stadium.

Options :

had started

1.«

was starting

2. %

would have started
3. %

started
4, %

Question Number : 7 Question Id : 8732654689 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My mobile phone 1s stolen (Choose the correct Active Voice)
Options :

Some steals my mobile phone.

Someone has stolen my mobile phone
2.¥
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A thief has stolen my mobile phone
3. %

My mobile phone is stolen by someone.

Question Number : 8 Question Id : 8732654690 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend “Stop smoking” (Choose the correct Indirect Speech)

Options :

I ordered my friend that he should stop smoking

1. ®
I advised my friend to stop smoking
2. v
I told my friend that smoking 1s injurious to health
3%
I requested my friend not to smoke
4. %

Question Number : 9 Question Id : 8732654691 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She was ignorant. She admutted it. (Combine these two sentences into
one Simple Sentence)

Options :

She was 1gnorant but he admuitted it
1. ®

Being 1gnorant, she admitted 1t
2. %

about:blank 6/104
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Despite her ignorance, she admitted it
3. %

She admitted her ignorance
4.9

Question Number : 10 Question Id : 8732654692 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the correct sentence among the following :

Options :

One of the boys are making lot of noise in the class.

1. #
Furnitures are properly arranged in the hall.
2. ®
He 1s too weak to walk
3.¢
I could not be able to get through the examination mspite of my
hard work.
4. %

Question Number : 11 Question Id : 8732654693 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate preposition:

She has got lovely gold bangles her arm

Options :

n
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on
3.¢¥

at

Question Number : 12 Question Id : 8732654694 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the tense in the following sentence:
How long have you been reading that book?
Options :
Past simple

1. #

Present contimuous

Past continuous

Present perfect continuous
4.9

Question Number : 13 Question Id : 8732654695 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct spelling:

Options :
Playwright
1.v
Playright
2. ®

about:blank 8/104
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Playwrite

Playerite
4. %

Question Number : 14 Question Id : 8732654696 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Transform the following Simple sentence into a Compound
sentence :

Being a vegetarian. she doesn’t eat meat.

Options :

She 1s vegetarian; she does not eat meat

1. ¢
She. a vegetarian do not eat meat.
2. %
She 1s a vegetarian, so she does not eat meat.
3%
She 1s vegetarian. ...not eat meat.
4. %

Question Number : 15 Question Id : 8732654697 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Turn into direct speech :

Ramya told me that she wants to go to Canada next year.
Options :

Ramya said, “T want to go to Canada next year”.
1. ¢
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Ramya says, “I want to go to Canada next year”.

2. %
. Ramya said, she wishes “to go to Canada next year”.
3.
Ramya says, “T wanted to go to Canada next year”.
4. %

Question Number : 16 Question Id : 8732654698 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the synonym for the word ‘Synonym’?
Options :

Supremacist

Opposite

2. ®

Similar
3¢

Infinitude

Question Number : 17 Question Id : 8732654699 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Turn into reported speech :
I am going away for a few days.
Options :

She says she 1s going away for a few days

about:blank 10/104
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She said she 1s going away for a few days

2. %
) She said that she was going away for a few days
3.9
She said that she is going away for a few days
4. %

Question Number : 18 Question Id : 8732654700 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Choose the correct sentence.
Options :
Her hairs were grown

1. #

Her hair is grown
2.¥

Her hair are grown
3%

Her hairs are grown
4. %

Question Number : 19 Question Id : 8732654701 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He tried to kill the snake. 1t went mto the anthill.
Options :

mstead

for
2. 8
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still

3. %

however
4.

Question Number : 20 Question Id : 8732654702 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

He crossed Indian ocean twice.

Options :

the
1. ¢

a1l

zero article

Question Number : 21 Question Id : 8732654703 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following is the correct sentence?

Options :

Ranadhir 1s going to arrive tomorrow

1. %
Ranadhir will have arrive tomorrow
2. %
Ranadhir will arrive tomorrow
3.V
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Ranadhir will be arrive tomorrow

Question Number : 22 Question Id : 8732654704 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct sentence.
Options :

The porter insisted helping us with baggages.
1. ®

The porter insisted to help us with our baggage.
2. %

. The porter insisted to carry a baggage.
3,

L The porter msisted on helping us with our baggage.

Question Number : 23 Question Id : 8732654705 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In which sentence is the Article “an” used correctly.

Options :

He eams an about thousand rupees a month.

Shakespeare is an renowned dramatist .
2. %

I had never visited an hospital before.
3. %

He has been here about an hour.
4.
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Question Number : 24 Question Id : 8732654706 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the sentence in active voice.

Options :
A Kkite 1s being made by the boy.
1. #

She was admired very much by him.
2. %

English 1s spoken (by people) in many countries.
3. % )

Somebody set the huts on fire.

Question Number : 25 Question Id : 8732654707 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One word Substitutes.

A thing occurring again and again for a long time
Options :
anachronism

expatriate

chronic
3¢

coincident

General Knowledge
Section Id : 873265156

about:blank 14/104
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about:blank
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265188
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 8732654708 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In May 2024, who was appointed as the President of GST Appellate
Tribunal?

b
Lot & Youpbadst - §-01-@ G 2oy G
A S DL,
s h g B e
Options :

Justice (Retd) K.G.Bala Krishnan
b £ () st

Justice Surya kant

il ot

Justice (Retd) Sanjaya Kumar Misra

/'..-4/ &‘f[,f—/ (‘jﬂr‘f’)(mf}“”

3.¢¥
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Justice A.S.Bopanna
b

by et (A

Question Number : 27 Question Id : 8732654709 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The scientists discovered the deepest “Taam Ja” blue hole near which
country
|

s
" TArwm Ia'yﬂdwwfjhbf;uj}ﬂb
i -
5‘.,:{_:)_[:/? ' J,-,;,yl'

Options :

Mexico
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Chile
wt

Question Number : 28 Question Id : 8732654710 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Delhi Sultan was known as “Prince of Moneyers™?

a . , Ve
P¥imca % Mowsyevs ' v L g
§ e"’u.’ (T_'/

Options :

Alauddin Khalji

Y
1. ® (’SPQ/J

Firoz shah Tughluq

G s

Muhammad bin Tuglug

(o 2

4.
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Question Number : 29 Question Id : 8732654711 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gandhiji withdrew the non-cooperation movement because of

/ -

g}s@?_wry i@ EpV = o

Options :

Chauri-Chaura incident

AR . 2

1. v

Jallianwala Bagh massacre

S—-l&' d;; 4 ﬁ_L s C)"I—L’

2. %

Gandhi-Irwin Pact

splon oy )-pi¥
3. % ‘

Poona Pact

YA

4. %

Question Number : 30 Question Id : 8732654712 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which of the following was not the work of Rabindranath Tagore?
107 Rk it ey o s
Options :
Gitanjali

7
St

Anandmath

pb ot

2. ¥

(hare-Baire
. C 74
3. %

Gora
W
29

Question Number : 31 Question Id : 8732654713 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rukmini Devi Arundale was famous dancer in
L P, Gl G . 7/
157 3O A i s s
¢ (4 ~ ¥y

Options :
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Kathakali

S

Kathak

i

e

Bharatanatyam

i

about:blank

Question Number : 32 Question Id : 8732654714 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was the highest water fall in India?

LY o G 0 e 0

Options :

1. #

about:blank

Athirampally water falls

e
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Kunchikal water falls
> N ¢
L
5

Hebbe water falls

Pl S

2. ¥

3. %

Jog water falls

oLt Sy

4, %

Question Number : 33 Question Id : 8732654715 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Seismology is the study of
p ) e Vi Se:bualaagf "

Options :
Volcanoes

Ol T

Cyclones

3 5 sd

about:blank 21/104
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Earthquakes

‘yl.}

3.¢¥

Tsunamis

(o Ly

Question Number : 34 Question Id : 8732654716 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the first Chairperson and Managi ‘
Bharatiya Mahila Bank? aging Director (CMD) of

/f g n ' f' - L}
- ’ M v o les
__lﬁ-f:_-:‘ /; &/4,/:;, %;' z __J‘_’::" - - M

(B of (cmd )

Options :

Usha Ananthasubramanian

(i L o) gt

1. ¥

S.M.Swathi
G @l
Leena Nair

b U

3. %

about:blank 22/104
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Roshini Nadar

/‘;L‘ @:43

4.

Question Number : 35 Question Id : 8732654717 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Narasimhan Committee-IT was appointed to recommend reforms on

I = # . ¥y
W gl g L Bl o

—

Options :

Insurance sector

1% ":L?Cfv:"fﬁ
Poverty
w4
2. % /
GST
b
3-o2t-62
3. %
Banking sector
' A
o2 § Doti,
4. :

Question Number : 36 Question Id : 8732654718 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 23/104
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Part IIT of the constitution of India deals with
.;-_*"f(‘;k,;du/, s Wbt LU

Options :
The Union and its Territory
g VoA o ér-:‘i"{

1%
Citizenship
":.'.'"'/y
2. % -

Directive Principles of State Policy

ol oty £l b G b

Fundamental Ri ghts
S 6oLl

4. v

Question Number : 37 Question Id : 8732654719 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the first Chief Election Commissioner of India?

o
-, i ' " _

Options :

about:blank 24/104
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S.P. Sen Varma

L, g’ -g -

1. ®

Sukumar Sen

W/b\,f:/

2. ¥

Kalyan Sundaram

[—'J»"-/ ©, L’-'!’r

3. %

T. Swaminathan

Uﬂrc(j"l"j'(;

4, %

Question Number : 38 Question Id : 8732654720 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the theme of International Farth Day 20247
/ " "
. ‘F‘Peﬂf 4 jﬂh&'\wi'imf&'ﬂﬁ Doy - 2024
Options :

Invest in our planet

1. ®

about:blank 25/104



6/13/24, 11:52 AM about:blank

Restore our earth

o’ﬁ‘ 3/@:4/'5;;&;1

2. ®

Planet vs plastics
y
\_j...._.-/E—' ,‘L L{# ~” ) é_./

3.¢¥

Protect our Species

b'j/rf-fd)}..-: cr'f(:}f

4. %

Question Number : 39 Question Id : 8732654721 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Jim Corbett National Park was mainly the reserve of

A0 Ten Covpat Nakiowal Pk

Options :
Tigers
A
-
1. ¢
Lions

Rhinoceros »

about:blank 26/104
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Crocodiles
I

F

Question Number : 40 Question Id : 8732654722 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the name of the document maintained by IUCN about the rare
and endangered species of plants and animals?

z C;'yl sbs> d;}j e bl $ 0996 Ly s
/ - Sk .
fqy(\f,‘_é/ Q;L./:sf[(._.,f,{f/ £ LU CN & a—,xuf,
Options :

Green List

N1 4

Red List
Sl ,JJ:_:J

2. ¥

Black List
ol S
®

3.

Yellow list

salish

4. %

Teaching Aptitude

about:blank 27/104
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Section Id : 873265157
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265189
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 8732654723 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The role of a facilitator in classroom is
T - .
b bl szVLJ_r;* o st g/
Options :

To dictate information to students

bl ls lgten 50

1. %
To guide and suppurt student leaming
dld-’ Gt LJ-' J (,v
2.
To admin.ister tests
/£ eni S -
{./. > L-vl P Clsm /
3. %
To discipline students
/
4. ® | (JV

about:blank 28/104
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Question Number : 42 Question Id : 8732654724 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Primarily the development of child is depend on
- : e Liils gvig 5
f“/y“,;' 4/x)tf:,_f.’fs¢f
Options :
Parents

Al

Society

e

School climate

dole (o101

3. %

Environment

o Ul

4. v

Question Number : 43 Question Id : 8732654725 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The position of the teacher is teaching learning process.
'3 : 5
sl bl o o gl (o

Options :

about:blank 29/104
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a leader

Lass

1. ¢ X

a dictator

1
2. # /’
a member
£ S
S
3. %
ad’i/rector
B4R
5 /{r
/ff’ b

Question Number : 44 Question Id : 8732654726 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Effective teaching is a function of

! . r
—— 5 o (V) i S
Options :

Teachers satisfaction

O beb! ¢

1. ®
Teacher’s honesty and commitment
: ~ 2T
A 3l erwle) HHB
2. %

about:blank 30/104



6/13/24, 11:52 AM about:blank

Teacher’s making students learn and understand

;
U S 62 g o0 pae S

3.¢¥

Teachers liking for professional excellence.

fi ' Va .
Sy 27 2V s S 5L
4. - - )

Question Number : 45 Question Id : 8732654727 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the term “learning style” refer to?
f)/’/?fc:'-‘f " s easin; g S‘})'L 7 s
Options :

The speed at which students learn

i ’
) 3 3o

1. %

The preferred way a student learns best

= M Pt (0 3 (JlIe s luth

2. ¥ -

The number of subjects a student can learn

. e
.;d:;./_,,urpqﬁ Yoo G

3. % ’

The location where learning takes place.

o £ A

4. %

about:blank 31/104
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Question Number : 46 Question Id : 8732654728 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does “cognitive development” focus on in the context of
education,

L

o g B G P 62 S L
Options :

Physical growth of students
L gl S ot

1. ®

Emotional intelligence

b s

Mental processes and skills like problem solving and critical
thinking. .
1"‘ - £ Fa o L, _’.' a"’)
By G ! LA (Jo e et (s 2 Ja

3. ¢

Social interaction among students.

Pl gbalrolr ol

Question Number : 47 Question Id : 8732654729 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Interaction inside the classroom should generate

v K sy pla @b thof g e o

Options :

about:blank 32/104
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Argument
s

Information

Controversy

o

Question Number : 48 Question Id : 8732654730 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following statement is correct.
- i ;r /t:“‘
-t St> U.t:;'f’(),’f C}: s
Options :

Syllabus is annexure to the curriculum

7’ ' ™ L!
ﬁgw.::-'._g(ﬁuea}vf(s: =

1. ®
Curriculum is the same in all educational institutions.
' ra 5 -
.;f-—‘-'(..u olr o ur/’ﬂ'@.':"f’t"
2. %

about:blank 33/104



6/13/24, 11:52 AM about:blank

curriculum include both formal and informal education.

%(}-L'?(l:’ro,_/zﬂ}fﬁ@‘/" 03“"’[‘&'0"1‘;

3.9
Curriculum does not include method of education.
'? f 1 i ¥ < 2
bl f 1 S lared N 7o
4, % O

Question Number : 49 Question Id : 8732654731 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which is the least important factor in teaching

f Ll
— o Wy ) P o

Options :
Punishing the students
o 1 5wt
1. v

Maintaining discipline in the class

(s /o 5 A5 Gr e 04

2. %
Lecturering in impressive way

- '} ‘_, r fr

Ot gp S o e

Drawing sketches and diagrams on the black board.
/ ; - il
W ,:“;j YL [!/,;:’,y/;/ egrd

4. % A
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Question Number : 50 Question Id : 8732654732 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ability to learn by an individual is
A, o
o ol G s ot
Options :

Acquired by the individual

Ligo b =27

1. %
Developed by the teacher
e
o, U 5 50 (=)
2. ® e
Absorbed from environment
g
3. %
Occurred from within
t . "'J N . ;
ﬁ' 6' £ 41 '/ )l’ gAY
4. ¥
Mathematics
Section Id : 873265158
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265190
Question Shuffling Allowed : Yes

about:blank

35/104
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Question Number : 51 Question Id : 8732654733 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. dy 1 "
If the general solution of Frilrmert f(y) + C(secy + tany),
then e/®) = P
; 4
s’ ?l‘fJf;U-I- C(&C"‘:‘-f'l"n't;[-’(_f,f E’/ig': NEecy+] -
' A {9
s
Options :

. (1 + sin }’) e(sec y+tany)
1.

i (1 + sin y) (secy-tany)
2.

- (1 + sin }') 7(secy+tany)

. (1 + sin y) e?(secy+tany)
4.

Question Number : 52 Question Id : 8732654734 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

dy ¥
dx x— . J/xy
Options :

Linear equation in x

05 uneghs 2

1. ®
Linear equation in y

gl 0 B

2.

about:blank 36/104
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about:blank

Bernoulli’s equation in y

Lwdf QU cpom

Bernoulli’s equation in x

Yl QU

Question Number : 53 Question Id : 8732654735 Question Type : MCQ Option Shuffling : No Display Question

Number :

Yes

Correct Marks : 1 Wrong Marks : 0

dy (e*—-tany secx tanx) .

If jon =— =
the equation 7 T ()secty is an exact equation, then a
possible function for f(x) is 7

bl oY LIy Secn v 1 a2
o tolum b - ot L ge ™y

o — gl el

Options :

Secx

1. ¥

tanx

Sinx
W

Cosx

4. %

Question Number : 54 Question Id : 8732654736 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank

37/104
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An integrating factor of ydx —xdy + (y* + y*x%)dx + y%sinydy =0 is

UL;;J M é/-ad.m = 1‘0(5 ""CH?‘..!..B-"?;/)C‘{'H +‘3mg;‘r~.-a dd:{}

Options :

about:blank

— I

Question Number : 55 Question Id : 8732654737 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0
The solution of the equation (2x cosy+3x’y) dx+(x’ —x* siny—y)dy=0
passing through the point (0,2) is

s
¢ (2-7Co8y 437 Sl (1= -Cng

(02) b . -
4 _ dfé._/aw?t_rﬂ -"ird/.)«’/":f

Options :

X CoSy+xiy—yp=-2

2. ®

about:blank

x3cusy+xy-%= -1

I\l-u_u--""l _.?
) d'f:::.o

38/104
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xcosy+x?y—y*=—4

3. %

i cosy+x3y—%=—2
4.9

Question Number : 56 Question Id : 8732654738 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The solution of p*+4p~5=0_ where p= % is

e Pt OL7 <€ pap s
Options :

BSx+y—c) (y—-x-c}=0

2x+y-c) (y+x-¢)=0

2. %

(Ax+y-¢c) 2y-x—c)=0

3. %

(Bx+y-¢) (y—-2x-¢)=0

Question Number : 57 Question Id : 8732654739 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
. 2 Z, dy .
The solution of X" (y—px}=yp* p = s

__ gr¥ACgpo=ps P

Options :

v ¥ =cx’ +c?

about:blank 39/104



6/13/24, 11:52 AM about:blank

. VT

y=cx?+x

3. %

41%;.;::3\.@+1c:2

Question Number : 58 Question Id : 8732654740 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Orthogonal trajectories of the family of straight lines y = mx is a

family of o »
o - /-‘L"-
-~ : . - M W =
LTS, E a2 =T i

Options :

Parabolas

2

Circles
s |
) o D/-J o

Straight lines
2 gt

Hyperbolas
ol K
A B D

3

4. %

Question Number : 59 Question Id : 8732654741 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

about:blank 40/104
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Correct Marks : 1 Wrong Marks : 0

The orthogonal trajectories of the family of concentric circles with

center at (a, b) is e ol G el )
: , 2R

Options :
Set of all parabolas having axes as coordinate axes.

o F S ik 2t ¥ Ca G

Set of all concurrent straight lines through (a, b)

2. ¢ - C

Set of all concentric ellipses with center at (a, b)

o tamy o lr s p e (L

3. %

Set of all concentric circles with center at {0,0) and passing
through (a, b) » R
. :! i
oo i e 02 0 L
C)g';j;f/’“"i (en6) b )1 % (0-0)

4, % -

Question Number : 60 Question Id : 8732654742 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The general solution of (D*+4D)y=sin2x is

s cpu’,}f k/&J}S*Qi’ Dy = Lk

Options :

about:blank 41/104
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y=C +C,cos2x+C;sin2x—x cosx

1. #

y=C, +C,cos2x+C;sin2x—x* cosx
2. %

y=C,+C,cos2x+C,sin2x-= sin2x
3. 8

y=C +C,cos2x+C;sin2x~x sin2x
4. %

Question Number : 61 Question Id : 8732654743 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The general solution of (1 - %) (% - x) =1, where p = % is

dfcf;fjé/ﬁ =5 () =)
F Lo
Vo] CJ s

e :c:ht ‘
Options :
y=x+ex?
]. %
3
C
=X+ —
Y c—1
2. ¥
y:cx-[-c;
3. %
y=cy+y”’
4. %

about:blank 42/104
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Question Number : 62 Question Id : 8732654744 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The general solution of (D?-4D+4)y=x

e D70 L L C A P P

Options :
2
y=(¢,+¢,x) g 3 Ox 3
. 74 8%
¥ 9y 1
= 2x o AL
) (c,+c,x) e +4+ i
2.
2z _.|_9_x-i
- y=(¢,+c,x) e +38 e
¥ x* x 3
- 2x+_ PR P ST
. v=(c,+cx)e g

Question Number : 63 Question Id : 8732654745 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The complementary function of a linear non-homogeneous n" order
differential equation with constant coefficients is

7
_L_wi;;w@;uufwwﬂﬂ
dfy _/ﬂ J&MMWWM

Options :
A linear combination of any (n — 1) solutions of its homogeneous
equation. ) o R
)y Lo comlses
6l ahd () 3 Lo ol
1. ® = (;_P‘{.. -E( Lu’

about:blank 43/104



6/13/24, 11:52 AM about:blank

A linear combination of any n functions involving sin x, cos x, €,

log x N . |
o 7 asw dslo m Llria”
S O e (2. Srmn, Qoty , € (aé}n

2. % P

F 3 § T : .
A linear combination of any Esnlutmns of its homogeneous

equation. R A 3 Jjj Ele 14 >
o Bn (17 2 T D Ll
3. %

A linear combination of » linearly independent solutions of its

homogeneous equation. .
; o o
sprfr Lo M 2 F el (A7
' el Lo G Lo

4. v

Question Number : 64 Question Id : 8732654746 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If e** and x e%* (a # 0) are two linearly independent solutions of a
second order linear differential equation f(D)y = 0, then the particular
integral of f(D)y = e%* is

,}Uf),},z} _g/rf@)a:oﬁr {,C..ag_/ijozf(;:;_}_m
oy P Q%DU?E‘? o By '»Lem‘“);! o S
r ) 4
| e — S (dyy: & Ll A
ST djz & =
Options :
T B

1. #

5 O

about:blank 44/104
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3.¢¥

Question Number : 65 Question Id : 8732654747 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

! 5 A
mf(-ﬂ‘ p (D—irj
# !
&P ™) s
Options :

e Ie‘“ Fx)dx

1.

. [ £(x)ax

e” j f(x)e “dx
3.¢¥

L e I F(x)e™dx

Question Number : 66 Question Id : 8732654748 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 45/104
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2
If y=ax>+bx+c is particular integral of %—5%4—63;:12, then

a+b+6c =

J*“J
,(ér JM} (_.A{TJ: avry burc A
O o « - £ -~
= ~ '9![! __5“34\{ ']'6:1:11
- A -dbaybe N Ay A
Options :
1
1. # 6
19
L« 108
3
3. ¢ 2
7
, » 108

Question Number : 67 Question Id : 8732654749 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The general solution of (D* +9)y=cos’x is
/P — et
A er ¥ (2T =Con
Options :

i I 3
y=¢ c083x+c,5mn3x+-—sinx+—cosx
. 247 T3

2 x 3
=c cos3x+c, sin3x+ —sin3x +—cosx
s ¢ 24 32

about:blank 46/104
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y=c¢,cos3x+c, $in3x+-——sin3x+ imsBx
3 % 24 32

. ; 3
y = ¢, €083X+¢, Sin3x +——sin x +—cos 3x
L 2% 32

Question Number : 68 Question Id : 8732654750 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Orthogonal trajectories of the family of curves ¥ = af, whereais a
parameter, 18

/.r-,/ - 4 —
c o g pbrens 2 L Fgs Y= AS
! - 5§
_,_,..c,,,}j'_f",'/.:/'iht’g* s O

Options :

Question Number : 69 Question Id : 8732654751 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 47/104
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If y=ce™+ce™® +c3sinax  is the general solution of
D*—a*)y=sinax (a is a positive integer); y(0)=0 and y(z)}=0, then
e e, o=
=

1 -,
dfﬁf)ﬁ“'”' d= C'E-r@.f— “+ g EMmaX A

s asele - BT Yz St
< B e=2 _ss) ¥Ylorze

( /"J%'f T
u-( gr—te= e

Options :

—1

~C) 4+ +(3

Question Number : 70 Question Id : 8732654752 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The equation of the curve satisfying the differential equation

(1+x2)% +2xy—4x" =0and passing through the origin is

|
*‘. 1_1_!- a 5 l

. L] - -
) o : v R £ P % s
h - .4 E
i -

C'Hx)_a‘ 5 ,—um-;.cju]}waw
Q,.—L""_s’ +&% 3 o c,wf
1
407 . 0»47,,‘1 =t A

Options :

about:blank 48/104
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3y (1+x%)= 4x°

1. ¢
3y (1+x')= 2x
2. %
2y (1+x%) = 3x?
3. %

2y (x+x¥)= 3x°

Question Number : 71 Question Id : 8732654753 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the plane which cuts equal intercepts of unit length on
the coordinate exes is

/J//LC!;L/_,)_,L?‘LAJ)JLJJ}}‘—*“} (-—""a’i—/

Options :
o x+y+z=3

x+y+z=0
2. %

X4 y+z=1
3. ¢ Y

. 2x-—y—z=1

Question Number : 72 Question Id : 8732654754 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank 49/104
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The equation of the plane passing through the point (1,2,3) and parallel
to the plane 2x + 3y + 6z = 9 is
r V. - 9 C s Lm(_{d‘/
&rdjﬁcgf Cr:2,3) ﬁé‘—ﬂ‘: : t
#
& u_;g;w/ 2N+ DY +65=7 & -

Options :

2x 4 3y + 62 + 26 = 0

2x+3y+6z—26=0

2.

2x —-3y—6z=9

3. %

2x + 3y — 6z =26

4, %

Question Number : 73 Question Id : 8732654755 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The perpendicular distance from the origin to the plane
x+2y—2z+9=0 is

VI Yy o2 A 7Y —2%+4 =0 éL/

- A /’u'-P
"‘&—7‘ »
Options :

2

1. ®

2.

4

3. %

about:blank 50/104
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4.

5

®

Question Number : 74 Question Id : 8732654756 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The angle between the two planes x —y+z=6and 2x + y—z =9is

—-?’J«j(?lrl‘f/f’f e SV 4326 £

Options :
T
1. ® 3
(4
2. ® 4
T
3.¥ 2
4. ® it

Question Number : 75 Question Id : 8732654757 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the plane through the line of intersection of the planes
x+3y+4z—7=0,x+y+2—-1=0 and perpendicular to the
planex —3y +5z—1=0is

2o Myl
CNtBY UG 220 sl PO A

% '?‘L'\:‘a--r% -~ —0
N O /o _} -2 /J'
.i’ T""B‘d‘ 'P'B-é"‘——l':'u G“V ’/{,Jb}_,,}

—-——-"-c‘

about:blank 51/104
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Options :

2x+3y+z—4=0

1. ®

2'\?3"""3""3:0

L ox+y+7=0

4x+2y+5z—-7=0

4, %

Question Number : 76 Question Id : 8732654758 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The length of the perpendicular from the point (?, 14, 5) to the plane
2x+4y—6=2is

ol ‘éﬂ/

¢

:mt-m-\\a b=

Options :
70

|

[\
&
—
b

59

3

3.¢¥

3v21

Question Number : 77 Question Id : 8732654759 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 52/104
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The projection of the line joining the points A = (2,3,—1),8 = (1,2,3) on
the line having the direction ratios as (2,3,—6) is

—Oj-{v; _’J,{ﬂ)/’g :(1,1;3) A (2;.3 . - bl
Cour- oy (2,3.8) “fff‘*’”“'jl'u‘?

Options :
—2
1. # 7
—3
2. % 4
29
3. ¢ 7
19
4. ® 7

Question Number : 78 Question Id : 8732654760 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the line passing through the point (2,1,4) and parallel to
thelinex—y—2z2=5,3x+y+z=6 is

)J},?.g..r .ijfljc:’ﬁ' Jﬂ (2, ) jg‘jrjﬁ
15 .
_2’; 3 ATY1g> -6/;1'){ % i m@jw

——
Options :
x-2_y-1_z-4
L x -l 7 4

about:blank 53/104
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tol_y-8, 2

l -7 4
2. ¥

x=2_y-1_z-4

1 7 —4
3. %

x-1_ y-2_ z-4

-1~ -7 4
4. %

Question Number : 79 Question Id : 8732654761 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the line passing through the points (1,2,1) and (1,4,3) is

/ i
I3 7 e Cliwsz) It S
_r_{f_,]j(.”acf__tf-

Options :
x=1, y-z=l
1. ¥
3 2
2. %

Question Number : 80 Question Id : 8732654762 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 54/104
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. x-1_y-2 z-3 x-1_y-5 z-6
[f the two lines =5 =55 -3 and o - o5 A mutually

perpendicular then the value of k is

-—

Options :

0

1. ®

~1] W

Question Number : 81 Question Id : 8732654763 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

x=1_y+l_z-3

5 =7 -4 and

The equation of the plane containing the line

perpendicular to the plane x+2y+z=12is

- /J._,?‘ 31—-:’_3-51‘ _ BEs
_05 L/ " C—f
57 {;jf; Aot 2y +3 =2

sl =
G —— oy Lus

Options :

Ox—2y—5z+4=0
1. v

about:blank 55/104
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—Ox+2y-5z-4=0

2. %

Ox-2y+5z+4=10
3. %

Ox+5y—-2z-4=0
4, %

Question Number : 82 Question Id : 8732654764 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The equation of the plane bisecting the acute angle between the planes
3x—4y+12z=26 and x+2y—2z=9,is

s’)-'fﬂ"!‘l"d*25:§Jff3m-htﬁ+flzzlgt__£wﬁ>
JJJJ.;J/(MQJ (_4_:@_9’/;;4'5;_2} a_;t,.?:?)‘j O o>
-— :LJ!JLﬂM #f::£~;4-”°

Options :

4x+38y—62z-39=0
1. ¢

22x+14y+10z-195=0

dx+19y~z-41=0

3. %

10x+13y+10z-47=0

Question Number : 83 Question Id : 8732654765 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank 56/104
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The shortest distance between the lines —= = and

x-2_y-3 _z+4 5§

Options :
0

1. ®

&S

Sz

3. %
2
v Y

Question Number : 84 Question Id : 8732654766 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The radius of the circle x*+)*+2z2—2x+4y—6z-2=0, z=0 is (in proper
units).

., I RA
=0, &\GL-%-%L_Q}:—I-MH —b%-2 =0, e

o e g
(orud Chewls) g i

Options :

NE]

1. #

about:blank 57/104
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2. %

{7
3.9

Ji1
4. %

Question Number : 85 Question Id : 8732654767 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The equation of the sphere centred at (2,1,3) and radius 6 units is

o
o G L V5t ) (2,03 o L0 K e
8 T QJ]}LM-D@/(}JJI:’,

Options :

X4y +722—4x+2y—-6z+11=0

1. ®

X+ y'+22-4x-2y—-6z=22
2.9

X'+ Yy +z?+4x-2y+62=22

X+ y'+zP—4x-2y-6z-11=0

4. %

Question Number : 86 Question Id : 8732654768 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 58/104
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The equation of the sphere which touches the plane 3x+2y—z+2=0
at the point (1,-2,1) and passes through the origin is

}j}’[.’f/":-" ,_;_,u({j‘_’\/u'!

Options :

x24+yt422-11x~2y+2z=0

1.+

X*+y2+22+11x+2y—z=0

2. ®

X2+y*+z2-11x-2y-z=0

3. ®

X2 +3y2+22+11x+2y+22z=0
4. %

Question Number : 87 Question Id : 8732654769 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The equation of the cone which passes through the three coordinate axes

. E:i:i i:i:-z-'
and the lines T=">=7and F=7=71s
) ﬂw_‘-; C)_;/;k:/ ’I_?L"'“G""'};
by JF O N - F. %
5 :,ﬁ-zr,j);_-':l::i—-
e PNV e ¢
Options :

2yz+2zx+3xy=0

1. ®

about:blank 59/104
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2xy+2yz+3zx=0

2. ®

2yz+2zx-3xy=0

3.¢¥

2yz—2zx+3xy=0
4. %

Question Number : 88 Question Id : 8732654770 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The enveloping cone of the sphere x°+y°+z>+2x-2y=2with its
vertex (1,1,1) is

Options :

3x2 + 32 +22x+10x+2y+4z-6=0

x24+y242zx+5x+3y+4z-5=0

2. ®

x24+y* - 2zx+5x-3y+6z-10=0

3x2—y? +4zx-10x+2y-4z+6=0
4.9

Question Number : 89 Question Id : 8732654771 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 60/104
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The vertex of the cone
x2 =2y +3z2 ~4xy+5yz~62x +8x~19y -2z -20=01is

-

Options :

(1,2,3)

2 (1,'233)

(_ 1 9'213 )
&

3.

| (1:2,3)

4.

Question Number : 90 Question Id : 8732654772 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the plane 2x-y+cz=0 cuts the cone yz+zx+xy=0 in perpendicular
lines, then the value of ¢ is

- ,ﬁf‘
By gL nY =0 Ly £ IMGFG =0 C"';; j/
Bbe Loy B P5 Dt
Options :
1. ® 1
2
2.9

about:blank 61/104
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Question Number : 91 Question Id : 8732654773 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In group G:[{ﬁ,f,i.-....-.,l_ﬂ}, +m], the order of 8 is

oo o X(§ 8T 500} 1) = G

_l!?.__eﬁljj_.alf&

Options :

Question Number : 92 Question Id : 8732654774 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If n(A) = 4, then the number of commutative binary operations that can
be defined on A is

2
ik il A sl T el T o EHSg ]
¢ = -——fﬁ

Options :

about:blank 62/104
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416

1. ®

410

2. ¥

about:blank 63/104
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Question Number : 93 Question Id : 8732654775 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a group G has 100 elements, then the number of subgroups of G
having 8 elements is o o

ol Do gp S 100 G 5L

o &2 Atad)a
e SO g 5

Options :

8
1. ®

4
2. %

2
3. %

0
4.+

Question Number : 94 Question Id : 8732654776 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If G={l,-1, i, —i} is a group under multiplication, then the number of

/ . .
SRPITes S  E
= ,q;x@ég;jgiﬂ@m/“

—

subgroups of G is

Options :

1

about:blank 64/104
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2

Question Number : 95 Question Id : 8732654777 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If #:Z,, > Z, is a homomorphism defined on the group (Z,,+,)
given by #(x)=3x, then ker ¢ is
. /5
T P XrL-—:)lr:e.__ e d“f"‘ﬁ‘/d

2 )
gﬂrm,_sx(_,iw &, (5 7L gl s CZ, M ;
s é/a’}’ by = A2

Options :

about:blank 65/104
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Question Number : 96 Question Id : 8732654778 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 0(G) = 12 and H is a sub group of G such that O(H) = 4, then the
number of right cosets of H in G is

9
OlH)=(pv - & H a—-f_,y/w G 1 D@)"“IL_/-‘
e, Sodd M (_ﬂ""(d&'«q
Options :

8

Question Number : 97 Question Id : 8732654779 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The order of i in the multiplicative group {1, ~1,.4; —f} is

RN 2V R RTZE VRS RSN (T
Options :

3

2. ¥

about:blank 66/104
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Question Number : 98 Question Id : 8732654780 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Number of subgroups of the group (Z 482 T 48 ) 1S
~ A 4 £
Y (_{f;.z:,///C;J" L—rs A C Zyg ,Tug)

Options :

7

10

4.

Question Number : 99 Question Id : 8732654781 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

~ — £
)J}fg_,/( %5, 1, E,E,ufg‘?)u\;rg ) € )r>
,_(’__vz/ S
Options :

about:blank 67/104
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0,3

], %
1,5

2. ¥
24

3%
1.3

4. %

Question Number : 100 Question Id : 8732654782 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of generators of an infinite cyclic group is

~ //"F -'//JP . ¥ =
B s s P o o
Options :

0

3.¢

Infinite

o lal

4. %

Question Number : 101 Question Id : 8732654783 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 68/104
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Order of the permutation (5 6 7 8 9)o(7 9 6 8 5) in the group (So, 0)

(S3,6) T (& 6T%5 0 L‘?%s«y)wm: A Lwe

-—

J
d_T i (- - SO
Options :

2

1. ®

Question Number : 102 Question Id : 8732654784 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1 2 3 45 6 7 8 9
If 4= 3456 198 7 2 is a permutation in the group

(So,0), then 0(a?) is

24 S67&9 7
{ju.//J)wou (3" Yt

T Sl A | 9&T72
c'_f-—' D(a“')@f-g%fa)

Options :
12
1. ®
8
2. %

about:blank 69/104
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6

3.¢¥

4, %

Question Number : 103 Question Id : 8732654785 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The order of the cycle (1 4 S 7) in the permutation group (S, 0) is
£
Jﬁd/( fus ) wsed o (S7,0) “jh_l’/JfJ_)(-A"

Options :

Question Number : 104 Question Id : 8732654786 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of invertible elements in the ring of integers is

LR Golis ot S 58 F e 1

Options :

about:blank 70/104
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Question Number : 105 Question Id : 8732654787 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The product of (4 5) (123) (32 1)(54) (2 6) (1 4) in the group S¢
expressed as the product of disjoint cycles is

Of';—;’J—"-’é

45302, 1) (S u) (2,8) CHW ’
L _9’/64"(-« fo(

— u_:zg_/‘ﬂg(«ﬂir &l /-CD?’/;.:’;

Options :

(L6)(24)

1. #

(12)(46)

2. %

(14)(26)

3. ¢

(1426)

about:blank 71/104
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Question Number : 106 Question Id : 8732654788 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of non-zero zero-divisors in the ring (Z,,+,, X, ) is

4 £ 5 Czrz""'l” '
e A
i 2

Options :

4

Question Number : 107 Question Id : 8732654789 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The units of the ring (Zﬁ,+ﬁ,Xﬁ] are

gtz{, Ky )
/-,,_pgfu,wkf

Options :

2.3

1. ®

2,4

2. %

about:blank

72/104
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1,5
3.¢

4,3

4, %

Question Number : 108 Question Id : 8732654790 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The set of generators of the cyclic group (ZSs+g), where
7ig =10,1,2,3,4,5,6,7} and +g is the addition modulo 8, is
2 Hardd
LiwL/AjjO:” C 2g, +¢) 52 o
: g((fb}ﬁ(_@r ) 18 ) 28 t{ o,f,z,z,bfifn?-
& = ' r }_{ i

Options :

{1,2,3,4)

1. #

(1.3,6,7}

2. ®

{2,4,5,6}

{1,3,5,7]
4.

Question Number : 109 Question Id : 8732654791 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 73/104
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If a cyclic group G is generated by an element O of order 15, then which
one of the following statements is true?

; / %
o f‘skk';”‘_/ﬁwﬁ/-wrg C__;Tf—%/' C{/_’/f
&f&)@ujc}@@/ PG A
— s J
Options :

2

(L “ is a generator of G

e A O(LE/Q‘

1. ¥

adisa generator of G

dT;JMfI/Q

a’isa generator of G

15

a~~ is a generator of G

o A xﬂlﬁg

Question Number : 110 Question Id : 8732654792 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of 1deals in the field F is
— > WA oD N U e

about:blank 74/104
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Options :

0

Question Number : 111 Question Id : 8732654793 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The limit of the sequence {Su} as H—> 0 where s, =n*+n-n, is

oy — (j:.,‘ucgﬁwhﬂrfmaac:,-é? RS )
| ) — ole
LAt

- Sm= \[. n 4 N=1

Options :

(e =

4. v

Question Number : 112 Question Id : 8732654794 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

about:blank 75/104



6/13/24, 11:52 AM about:blank
Correct Marks : 1 Wrong Marks : 0

The Cauchy’s sequence among the following sequences, is

s ol vl GO & omVamds

Options :
I 1 1
{l+§+§+ ......... +'?—T}
1. ®

213t
2.
i}
3. %
a
H
4, %

Question Number : 113 Question Id : 8732654795 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is not true in R ?

o o g Ol LSS e R

Options :

Bounded sequences are convergent

O el T

1. ¥

about:blank 76/104
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Increasing sequences bounded above are convergent

EO/E’QEJ&/J’F}JM;‘IS’;_f::M}?

-

Decreasing sequences bounded below are convergent

" i - 1 - ¥
Lo, Il sl sons f]—"&?f-”J

Convergent sequences are bounded

——

C}‘E_J,A.#;-J";’C‘f/@

Question Number : 114 Question Id : 8732654796 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

M
If 5, =;%, then the sequence [Sn} is

B g B " Z
o %fﬂ} _/JTJ)(.?.A.!’ .gﬂ';é t/,( f[/;
=/
Options :

Convergent

cz 3

1. ®

Bounded

SuF

about:blank 77/104
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Increasing

o leZ?

3.¢
Decreasing
(Zos
4. %

Question Number : 115 Question Id : 8732654797 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If t, =(=1)"+1 for all n>1, then

“ y
— LI N (U Az (-7 Pt
Options :

J;!1_1}_1‘100 t, exists

P L %

NS o,
1. ®

limsup?, =2 and liminfz, =0

,luqn T‘ﬂ}:th::?)}! hrm l“h':l-

2. SMF

limsupt, =2 and liminfz,=-1

D i

3. %

about:blank 78/104
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limsupt, and liminf, do not exist

> 7 !fm}in“.,-, /J” (e Sapbn

4.

Question Number : 116 Question Id : 8732654798 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1\
c

oD
The series Z

n=l
ol
& = ™

Options :

Convergent to zero

AV
1. %

Divergent

o e

Absolutely convergent

Convergent but not absolutely

O Gle 0

4.

about:blank 79/104
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Question Number : 117 Question Id : 8732654799 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If £:R—>R isdefined by f(x)=|x| forall x € R, then
>

a .
AH O L] f: 0 R T
— D yew (L& Az [ )

Options :

f1s continuous on R

Jolwe f o R

£ is not continuous at ‘0’
(Jrtom st £ 13 7

f 1s continuous at ‘0’ only

£ 1s not continuous at any X in R

(Jotep f s n gt 2R

Question Number : 118 Question Id : 8732654800 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 80/104
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Options :

does not exist

, et

4.

Question Number : 119 Question Id : 8732654801 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The function fdefined by f(x) =x, if x e R— @,
=1-—2x if x €Q iscontinuous

=2
= A, Ael-471 4 : “ ",
qt(.“ﬂ) A .r;' Eﬂgui_;_;?ybu‘l :Fd_,c!,
= |-, AEQ ]

Options :

at x =1 only

e

about:blank 81/104
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1
at X = Eonly

Vs m:':lli 0

2. ¥

at all rational numbers x

3. %
R — {0,1}

B -{0,;'5

Question Number : 120 Question Id : 8732654802 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If f(x) = [x] for x € [0,10], then 1 is
— f ki e[D1e] L ch:[’*ﬁ'

Options :

Continuous on [0, 10]

dﬂfﬂ/‘j (o, 1oJ

1. ®
Differentiable on [0, 10]
) Co, o
. (_?_/JJ/;  10]

about:blank 82/104
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Integrable on [0, 10]

A,f‘é‘/?'?t“”“’]

3.¢¥

Strictly increasing on [0, 10]

/:J/i@ Lot o107

4, %

Question Number : 121 Question Id : 8732654803 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
If f is continuous on [0,1] and differentiable on (0,1) and
|f(x)= f(»)|<(x—p)? forall x,y in[0,1], then

5 (e ple gobus s Lo T
£ r ]
{0 ep[gt-g)” 2y (e ol o] /2

-__-..' »

Options :

f is increasing
LAl a
f is a constant function

2. ¥

about:blank 83/104
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[ is decreasing

Y
22— s

f 1s unbounded

e d

4.

Question Number : 122 Question Id : 8732654804 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Taylor series expansion of e* , for x € R is

s aeg (e s ¥ o Lo G e

Options :

o0 (_1)11 '.':Zml
24" 2n+D))!

Question Number : 123 Question Id : 8732654805 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

about:blank 84/104



6/13/24, 11:52 AM about:blank
Correct Marks : 1 Wrong Marks : 0

The constant C of the Lagrange’s mean value theorem for the function
f(x) =x+ x%on [0,6]is

s o2
o o (’L;LA&/,.LMG/;J*J—/J’Z{(J/JEJ

s I Ca’,;j/-fm):ﬂﬂ?’ L

Options :

3

1. v

SN |

Question Number : 124 Question Id : 8732654806 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let P= {a =X, <X, <.....€x, =b} be a partition of the interval [a, b].
Then the norm of p is

\Y

., P / _ Y
[a:57 r\_L}J/::?(—ffpfr{ﬁ&ﬂog'ﬂlﬁ.”s“ﬂ: 1
- -—'*‘JEM’L/PL_;; o [ A

Options :

max{xf—:-:jlflgf,j gn}

1. ®

about:blank

85/104
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max{ i

2. ®

j|;’1££,j5n,i¢j}
ax {lx,—x,,|/1<i<n-1}

. max {[x, —x,,|/0<i<n-1]

Question Number : 125 Question Id : 8732654807 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If f:[a,b]— R be such that l I | is Riemann integrable on [a, b], then

AJLO"‘\JJL__&J-’{ij !J Z dpr ! 9(("‘;33_3'
w:f*’[qrﬁj

Options :

f is Riemann integrable on [a, D]

aL.F-,J:’éo'i:’J)(/‘;\_’fa_‘Cﬂrlaj

f is continuous on [a, b]
oo griun 2 1804
f is differentiable on [a, b]

p G f ot L

3. %

about:blank

86/104
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f is bounded on [a, b]
)
_E—rﬁﬂ'ﬁ*—é'f/friq g

4.9

Question Number : 126 Question Id : 8732654808 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
4
[[x] dx=
0

Options :

0

Question Number : 127 Question Id : 8732654809 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

lim n
H—*}Cﬂ; ?12+?'2
& P s
Y
v .;L._g?d

about:blank 87/104
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2T

n| A

|

4.

Question Number : 128 Question Id : 8732654810 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If f:[0,1] —» R is defined by

) = { 1, if x is rational
-1, if x is irrational

Then which one of the following is not true?
L O L 4.’/ ~ w (f ,//3
,f ’% :ruJ'Lj S lolws S To R A
Wy L Ly
~] U sl ) g o FR .
e W Olels S o >

R .Y
L4
Options :
f is not continuous

i d/}iﬁ/:;“c j{

1. ®

about:blank 88/104
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f is bounded
o )J.)"; '7(

2. %
|f] is a constant function
r sl ]
3. %
f is Riemann integrable
< JJ{JU“J 2
4.9

Question Number : 129 Question Id : 8732654811 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1
The value C of Cauchy’s mean value theorem for f(x) = — and

g(x)——on la,b],a,b>0is
/
2 ),/,ft'vf?e /U’L{C ,Lﬂ"/ﬂ(:é{# t‘./c.?'ﬁ
— R by0 - B/ Cméj ‘3{“)-...1? e

Options :

ab
2(a+b)

2ab
b—a

2. %

about:blank 89/104



6/13/24, 11:52 AM about:blank

2ab

a+b
3.V

a+b

2ab
4, ®

Question Number : 130 Question Id : 8732654812 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

— a2 .y _ 1 2 E
If f(x)=x* on [0,1] and partition P—{D, TR 4}1}, fien
U(psf)_L(paf)= /
¥ !
P?-;ﬂfl—ﬁ:;?: i ;{_7 _J.J/J ['o,rﬂf O((.H“J':- Pe -
4 H'E?'} b > s
— L.’C_Pr&)""LCP'} .
Options :
S
32
1. #
Ak
32
2. %
8
32
3. ¢
Ed
32
4, %

Question Number : 131 Question Id : 8732654813 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 90/104
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If a=(1,-2,5) is a vector in the vectospace R*(R) that can be expressed
as a linear combination of the vectors ¢ =(11), ¢, =(1,2,3), and

€ =(2,~1,1), then =
o e o= Ciez,5) (el G R D)
W ey =(11) ey =(1,2,3) Ci=C(2 1 |)f-'j3?
U= & Syt L) kP
Options :
—b6e; + 3e, + Ze;

1.+

691 + 392 -— 263

—631 T 3{32 + 233

631 - 332 - 25’3
4. %

Question Number : 132 Question Id : 8732654814 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ifthe set {(1 +a,1,1), (1,1 + a,1),(1,1,1 + a)}, is a basis for V53 (R) then

N_\JEW LA,/V_,;:(@’ -{E'l—}:?:,},)])(l;l-rﬁ’,1),(].": H‘m‘:" _}wﬁj"ﬁ

I
Options :

aeR \ {01}

1. ®

about:blank 91/104
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aeR \ {03}
2. %

aeR \ {0,—1}
3. %

aeR \ {0,—3}
4.9

Question Number : 133 Question Id : 8732654815 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If W,={(ab,c,d))b—2c+d=0}and W,={(ab,cd)a=d,
b = 2c} are two subspaces of the vector space (R* +,), then
dim (W, + W,) =

T e 1 Nrﬁii"”"l”:’d‘i Bhlc+dtb¥f‘{/}
Wy = S{mb,f—qﬂ‘)f‘*':"h I"’CLC%

T AR+, o) “Cﬂgiuf/.' r2os k=0
—d o (WrsWeLy = :}f"'ef{:*”(“"q“"

Question Number : 134 Question Id : 8732654816 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

about:blank

92/104



6/13/24, 11:52 AM about:blank
Correct Marks : 1 Wrong Marks : 0

If T:R?- R?is linear transformation defined by
T(x,y,z)=(xcos@ - ysinf, xsind+ ycosd, z) , then dim(KerT') =

5o r T ¢ £,
%%FU%‘J]?/J[C-‘—/IQ;L?TﬂI 7t R5e )
"-r*"fﬁ f\{"ﬂl\j,z}): (7 los@- ﬂ&“nﬂ,?ﬁl“ﬂ@ +*ﬂ(’o£d?}1)
— —dim(KexyT)

Options :

2

1. ®

Question Number : 135 Question Id : 8732654817 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If V and W are finite dimensional vector spaces and T:V —» Wis a
surjective but not injective linear transformation, then

T‘ V= iy /;'*L@/hu&"@ﬂﬂfuﬂ NP4
- e U”A[;Ldfa-é?’fmyam ve_fj/&réy‘;}/a

Options :

dimV =0

about:blank

93/104
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dimW =1

2. ®

dimV <dim W

dimV>dimW

4. v

Question Number : 136 Question Id : 8732654818 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If Ty and T are linear operators on R? and defined by
T,(x,y) = (¥, —x), To(x,y) = (y,0) forall (x,y) € R?, then
(T, —T, ) (xy) = ”
4 A N
b 1y 00T o)
7= Ong)elya? - S, R - P

{____:l: x‘*jﬁ(&qcm:):(f)
Ty = T27 )= nYER L Pge

Options :

x,¥)

('"JC, J”)

(x,—¥)
3.¢

(—x,-y)

4. %

Question Number : 137 Question Id : 8732654819 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 94/104
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T:R® 5 R*is a linear transformation defined by
T(x,,%,,%;,) = (% —X,, X, +X;) forall (x,x,,x,)€ R, then nullity
(T) IS 2,

SS WOl /M,thfoffw“ TR

f’b.d (“U'HL.'??,) ¥, oty M3
L ‘H.'L A
WJWLAJ F’;}"fﬂc " 3)6—&

———

Options :

0

1. ®

2. ¥

Question Number : 138 Question Id : 8732654820 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If T:RPS R* is a linear transformation defined by T(1,0,0)=(2,1),
T(0,1,0)=(0,1) and T(0,0,1)=(1,1), then the rank of T 1s

{;ﬂdﬂu‘/ﬂ’fﬁjw.'a_&?w| s ,33 }(]. /f/j"!
Tow0p1) (1) s3] T lortr0) =\on ), 7110, )= (211}
Options :

0

1. #

about:blank 95/104
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1
2. %

2
3. ¢

3
4. %

Question Number : 139 Question Id : 8732654821 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The rank of 7:R? - R*defined by T(x,»)=(x+y, x—y, y) is

JUL oL Gt T GR
T T Tony)= Ofg, e, p)

Options :

3.¢

Question Number : 140 Question Id : 8732654822 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 96/104
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0
1
2

2-42=0

(z2=A)*=0
3. ¢ '

2—-A)=4
4. %

Question Number : 141 Question Id : 8732654823 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1 4
The characteristic roots of the matrix [3 2} are

, R
_q:i.-—dﬂ,w"(;::_&f:C;/lg_ﬂiL *'& ijoﬁ@

Options :

2,-5

2,5
2.¥

about:blank 97/104
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3,2
®

3,-3

Question Number : 142 Question Id : 8732654824 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let T be a linear operator on R? defined by T(x,y)=(4x-2y, 2x+ ) for
all (x,y)eR?, Then the matrix of T relative to the basis {(1,1),(-1,0)} is

: o / S0
Z/,b(yﬂjjfcd?« Td*"(ﬁ@{)'(_:i;/:! E,;J{Ij j_(:ﬂ
LM)&E;’G (2 701 )= (‘!“*"wtﬂ*:ﬁ) :’ 5"_94 e
il ol Gl 5T gl o ~ O S
— ‘e — {ctin, t-1,0073

Options :

i

about:blank 98/104
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Question Number : 143 Question Id : 8732654825 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1 2 1
Nullity of the matrix [¢ 1 0]is
0 -1 1
x Tal™ T sl
AP IR S | e (o S
~ o~/
Options :
-1
1 ®
|
2. %
0
3. ¢
2
4. %

Question Number : 144 Question Id : 8732654826 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

2 -5 7
If A=[-5 11 -8| isa matrix, then trace of A is
&8 7 6
/ cf
[y %) e ""5-'-.?
Blrlas ) A r ey UJJ:’LA"E-B u-szf] -
& 74
R

Options :
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19
1. ¢

17
2. %

5
3. %

-5
4. %

Question Number : 145 Question Id : 8732654827 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1 1 1
The rank of the matrix A=[2 3 2|
1 7 -7

A A
s BB ¢ [1.5-11 dj-'b‘
' | 97 -
Options :

0

about:blank 100/104
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Question Number : 146 Question Id : 8732654828 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If @ = (2,1,2) in an inner product space V3(R), then ||a|| =

' P | / ;"
a-,-f/bdﬂ’b drlsw LD v @) (2 h2de o |

— = el T

Options :

0

Question Number : 147 Question Id : 8732654829 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A unit vector orthogonal to (2,—1,6) in an inner product space R3 is
¥y
A bt n A
Dl 7 (2, ,8) &b 7 ATl
— % 3 - oy
(s d

Options :

2 -1 -2
373773

about:blank 101/104
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2 =2 -1

3 37 3
2. ¥

212

3' 3’ 3
3. %

2 2 -1

373 3
4, %

about:blank

Question Number : 148 Question Id : 8732654830 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If @ =(—1,0,1) and # = (2,0,—2) are elements in the inner product

space V3(R), then ||a + B =

oo drlens Bz (20002) L1y 0ot io, 1) )
N ke ple S Vsk) o 2 BB e

Options :

1

3. ¥

4, %

about:blank
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Question Number : 149 Question Id : 8732654831 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a, B are vectors in a real inner product space and ||a|| = ||8]|, then

(@a—ga+p)=

4
e s bt S R

Options :

a—p

1. ®
a+f
2. %
1
3 %
0
4. ¢

Question Number : 150 Question Id : 8732654832 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If W is a subspace of a finite dimensional inner product space V, then
dimW+=

E/V /ﬂwvéw@)w});ﬁwlwﬁ f
= ol i WA &-?-wwuj_-{;f

about:blank 103/104
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dimV - dimW
2.
, » dimV+dimW
dimV . dimW
4. %

about:blank 104/104



